Research Journal of Applied Sciences, Engineering and Technology 5(5): 1830-1835, 2013 DOI:10.19026/rjaset.5.4945 ISSN: 2040-7459; e-ISSN: 2040-7467 © 2013 Maxwell Scientific Publication Corp. Submitted: August 11, 2012 Accepted: September 03, 2012 Published: February 11, 2013

Research Article A Power Penalty Approach to a Horizontal Linear Complementarity Problem

¹Xizhen Hu, ¹Chongchao Huang, ^{1,2}Aihua Luo, ^{1,3}Hua Chen ¹Department of Mathematics and Statistics, Wuhan University, Wuhan, 430012, China ²Department of Mathematics and Statistics, South-Central University for Nationalities, Wuhan, 430074, China ³Department of science, Hubei University of Technology, Wuhan, 430068, China

Abstract: A power penalty approach has been proposed to linear complementarity problem but not to Horizontal Linear Complementarity Problem (HLCP) because the coefficient matrix is not positive definite. It is skillfully proved that HLCP is equivalent to a variational inequality problem and a mixed linear complementarity problem for the first time. A power penalty approach is proposed to the mixed linear complementarity problem based on approximating the HLP by a nonlinear equation. It has been proved that the solution to this equation is feasible and converges to that of the HLP at a rate of at least $O(\lambda)^{-k/2}$ in the Euclidean norm.

Keywords: Convergence rate, horizontal linear complementarity problem, power penalty methods, strong monotone, variational inequality

INTRODUCTION

Consider a horizontal linear complementarity problem as follows:

Problem 1: Given A ε R^{nxn}, B ε R^{nxn} are matrixes and q ε Rⁿ is a vector, find a pair x, y ε Rⁿ such that:

$$Ax-By = q \tag{1}$$

$$x \le 0$$
 (2)

$$\mathbf{x}^{\mathrm{T}}\mathbf{y} = \mathbf{0} \tag{4}$$

It is worth noting that HLP becomes LCP if B = Iand if B is nonsingular, HLCP can reduce to LCP. So HLCP is the generalization of LCP. HLCP also includes the Linear Optimization (LO) and Convex Quadratic Optimization (CQO) (Zhang, 1994). LCP arise in many mathematical models from economy and technology. And various approaches to LCP are developed in recent years which are based commonly on Newton's method and Interior-Point Methods (IPMs). Some alternative the weighted path-following interior-point methods were proposed. Ding and Li (1998) studied the weighted pathfollowing methods for LCP. Jansen et al. (1996) presented the primal-dual target-following algorithms for LO. Some IPMs for LO, CQO and LCP have been extended to HLCP, Such as Bonnans and Gonzaga (1996) studied the HLCP, (Huang, 2000) proposed

an high-order feasible interior point method for HLCP with $O(\sqrt{n} \log \epsilon_0/\epsilon)$ iterations. Sturm (1999) derived the superlinear convergence properties for monotone linear complementarity problem under no strictly complementary solution exists. Zhang and Zhang (1995) presented a class of infeasible IPMs for HLCP.

However, there was a limited study of penalty methods for LCP. Recently, (Wang and Xiaoqi, 2008) first presented a power penalty method for LCP in Rⁿ based on approximating the LCP by a nonlinear equation and (Huang and Wang, 2010) developed it to NLCP and shown that the solution to the penalty equation converges to that of the NCP in the Euclidean norm at a rate of at least $O(\lambda^{-k/\xi})$. Inspired by their study, we develop a power penalty method for solving HLCP, based on the idea in Wang and Xiaoqi (2008) and Huang and Wang (2010). We first approximate the HLP by a nonlinear system of equations in which a power penalty term with a penalty constant λ >1 and a power parameter k>0 are contained. If coefficient matrixes A, B obey the Assumption A1, we show that the solution to the penalty equation converges to that of the HLP in the Euclidean norm at a rate of at least $O(\lambda^{-k/2})$.

In this study, we use $\| \|_{p}$ to denote the usual l_{p} -norm on \mathbb{R}^{n} for any p>1. When p = 2, it becomes the Euclidean norm. $[u]_{+} = \max \{u, 0\}, [u] = \min \{-u, 0\},$ and $y_{\sigma} = (y^{\sigma}_{1}, y^{\sigma}_{2}, ..., y^{\sigma}_{n})^{T}$ for any $y = (y_{1}, y_{2}, ..., y_{n})^{T}$ and constant σ >0. The outline of the study is as follows. In next section, we briefly introduce the problem, prove skillfully that HLCP is equivalent to a variation

Corresponding Author: Xizhen Hu, Department of Mathematics and Statistics, Wuhan University, Wuhan, 430012, China This work is licensed under a Creative Commons Attribution 4.0 International License (URL: http://creativecommons.org/licenses/by/4.0/).

inequality problem and a mixed linear complementarity problem and give its penalty formulation.

THE PROBLEM AND ITS PENALTY FORMULATION

Let the cone:

$$\mathbf{K} = \{ (\mathbf{x}^{\mathrm{T}}, \mathbf{y}^{\mathrm{T}})^{\mathrm{T}} \, \big| \, \mathbf{x} \in \mathbf{R}^{\mathrm{n}}, \, \mathbf{y} \in \mathbf{R}^{\mathrm{n}}, \, \mathbf{y} \le \mathbf{0} \}$$
(5)

which is a closed, convex and self- dual in \mathbb{R}^{2n} . If we let:

$$F(x, y) = \begin{pmatrix} Ax - By - q \\ (I - \beta A)x + \beta By + \beta q \end{pmatrix}$$
(6)

and β is a constant and define the following variational inequality problem corresponding to Problem 1.

Problem 2: Find $(x^T, y^T)^T$ such that for all $(u^T, v^T)^T \in K$:

$$\left(\binom{u}{v} - \binom{x}{y}\right)^{T} \binom{Ax - By - q}{(I - \beta A)x + \beta By + \beta q} \ge 0$$
(7)

It can easily be shown that the variational inequality problem is equivalent to a mixed linear complementarity as follows: Find a pair x, y ε Rn such that:

$$G(x, y) = Ax - By - q = 0$$

$$y \le 0$$

$$H(x, y) = (I - \beta A)x + \beta By - \beta q \le 0$$

$$y^{T} H(x, y) = 0$$
(8)

We can prove Problem 1 and 2 is equivalent, namely, the Theorem 2 is true:

Proposition 1: $(x^T, y^T)^T$ is a solution for Problem 1 if and only if $(x^T, y^T)^T$ is a solution of Problem 2 at one time.

Proof: If $(x^T, y^T)^T$ is a solution for Pronlem 1, it is obvious $(x^T, y^T)^T \in K$ and for any $(u^T, v^T)^T \in K$, we have:

$$\left(\binom{u}{v} - \binom{x}{y}\right)^T \binom{Ax - By - q}{(I - \beta A)x + \beta By + \beta q} = v^T x \ge 0$$

since v≤0 and x≤0. Therefore, $(x^T, y^T)^T$ is a solution of Problem 2.

Conversely, if $(x^{T}, y^{T})^{T}$ is a solution of Problem 2, we have $y \le 0$. We first prove:

$$(I - \beta A)x - \beta By - \beta q \le 0$$

If it were not true, then there would exist at least an index i, such that the i^{th} component of:

$$(I - \beta A)x - \beta By - \beta q$$

Satisfies:

$$\left[\left(I - \beta A \right) x - \beta B y - \beta q \right]_i > 0$$

Since $(u^{T}, v^{T})^{T} \in K$ is arbitrary, we choose u = x and:

$$v = \begin{cases} y_j, & j \neq i \\ y_i - \varepsilon, & j = i \end{cases}$$

For j = 1, 2,..., n and an arbitrary constant $\epsilon > 0$. Substituting this into (2) gives:

$$\begin{pmatrix} \begin{pmatrix} u \\ v \end{pmatrix} - \begin{pmatrix} x \\ y \end{pmatrix} \end{pmatrix}^{l} \begin{pmatrix} Ax - By - q \\ (I - \beta A)x + \beta By + \beta q \end{pmatrix}$$

= $(v_{i} - y_{i}) [(I - \beta A)x + \beta By + \beta q]_{i}$
= $-\varepsilon [(I - \beta A)x + \beta By + \beta q]_{i} < 0$

This contradicts the fact that $(x^T, y^T)^T$ is a solution to Problem 2. Thus, we have:

$$(I - \beta A)x - \beta By - \beta q \le 0$$

Next, we show that Ax-By-q = 0. If it is not true, there must exist at least one indexi, such that $(Ax-By-q)_i \neq .$ Now we choose u and v satisfying v = y and:

$$u = \begin{cases} x_j, & j \neq i \\ x_j - \varepsilon \operatorname{sgn}\left[\left(Ax - By - q \right)_i \right], \ j = i \end{cases}$$

For j 1, 2,..., n, where, sign denotes the sign function and an arbitrary constant $\varepsilon > 0$. Substituting this into (2) yields:

$$\begin{pmatrix} u \\ v \end{pmatrix}^{-} \begin{pmatrix} x \\ y \end{pmatrix}^{i} \begin{pmatrix} Ax - By - q \\ (I - \beta A)x + \beta By + \beta q \end{pmatrix}$$

= $(u_{i} - x_{i})(Ax - By - q)_{i}$
= $-\varepsilon \operatorname{sgn} \left[(Ax - By - q)_{i} \right] (Ax - By - q)_{i} < 0$

Which is impossible as $(x^{T}, y^{T})^{T}$ is a solution to Problem 2. Therefore, we have Ax-By-q = 0. So we have $x \le 0$ from the facts:

$$(I - \beta A)x - \beta By - \beta q \le 0$$

And,

$$Ax - By - q = 0$$

Finally, let us show that $\mathbf{x}^T \mathbf{y} = 0$. Since $(\mathbf{u}^T, \mathbf{v}^T)^T \varepsilon \mathbf{K}$ is arbitrary, we choose $(\mathbf{u}^T, \mathbf{v}^T)^T$, respectively as follows:

$$\left(u^{T},v^{T}\right)^{T}=\left(x^{T},2y^{T}\right)^{T}$$

And,

$$\left(u^{T}, v^{T}\right)^{T} = \left(x^{T}, \frac{1}{2}y^{T}\right)^{T}$$

Substituting these into (7) respectively and noticing Ax-By-q = 0 yields:

$$\begin{pmatrix} \begin{pmatrix} u \\ v \end{pmatrix} - \begin{pmatrix} x \\ y \end{pmatrix} \end{pmatrix}^{T} \begin{pmatrix} Ax - By - q \\ (I - \beta A)x + \beta By + \beta q \end{pmatrix}$$

= $y^{T}x \ge 0$
$$\begin{pmatrix} \begin{pmatrix} u \\ v \end{pmatrix} - \begin{pmatrix} x \\ y \end{pmatrix} \end{pmatrix}^{T} \begin{pmatrix} Ax - By - q \\ (I - \beta A)x + \beta By + \beta q \end{pmatrix}$$

= $-\frac{1}{2}y^{T}x \ge 0$

So we can deduce $x^{T}y = 0$. This completes the proof of the proposition.

Next, we present a power penalty method for Problem 1. Consider the following penalty problem:

Problem 3: Finding $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T} \in R^{2n}$, such that:

$$\varphi_{\lambda}(x, y) = F(x_{\lambda}, y_{\lambda}) + \lambda \begin{pmatrix} 0 \\ \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{1} \end{pmatrix} = 0$$
(9)

where, $F(x, y) = \begin{bmatrix} Ax - By - q \\ (I - \beta A)x + \beta By + \beta q \end{bmatrix}$ which is equivalent to:

$$\begin{pmatrix} Ax_{\lambda} - By_{\lambda} - q \\ x_{\lambda} \end{pmatrix} + \lambda \begin{pmatrix} 0 \\ [y_{\lambda}]_{+}^{1} \\ k \end{pmatrix} = 0$$
 (10)

And $\lambda > 1$ and k > 0 are parameters.

This is penalized equations corresponding to Problem 1, where the penalty term penalizes the positive part of y_{λ} . When $\lambda \rightarrow \infty$, we expect that the solution $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$ of the problem 3 converges to that of Problem 1. From (10), it is obvious that $x_{\lambda} \le 0$, $y_{\lambda} \le 0$ in this way we can get a feasible solution which differs obviously from Wang and Xiaoqi (2008) and Huang and Wang (2010) and the rate of convergence depend distinctly on both of the parameters in the penalty term.

CONVERGENCE ANALYSIS

In this section we first give a assumption, and based on this assumption, Problem 3 has unique solution and establish some upper bounds for the distance between the solution the Problem 2 and 3, respectively which are based on the following assumption on the coefficient matrix H:

A1: There exist constant β such that coefficient matrix:

$$H = \begin{bmatrix} A & -B \\ I - \beta A & \beta B \end{bmatrix}$$

is positive definite, i.e., there exist constants β and $\alpha > 0$ such that $z^T Hz \ge \alpha ||z||_{2}^{2}$ for any $z \in \mathbb{R}^{2n}$.

Remark 1: Under the Assumption A1, we have no difficulty to proof that:

$$F(x, y) = \begin{pmatrix} Ax - By - q \\ (I - \beta A)x + \beta By + \beta q \end{pmatrix}$$

is strong monotone and can proof $\phi_{\lambda}(x, y)$ is also strong monotone. So we can draw conclusion based on theory of variational inequality that the problem 2 has unique solution and we can affirm that the problem 3 has unique solution.

Remark 2: when B = I and A positive definite, H is positive definite if and only if $\beta[21 - \beta A(A+A^T)^{-1} A^T]$ is positive definite. If we choose β satisfying $0 < \beta < \frac{2}{\lambda_{max}}$, where, λ_{max} is the maximal eigenvalue of $A(A + A^T)^{-1}$, H is positive definite Which weaken the conditions in Wang and Xiaoqi (2008).

Theorem 1: Under the Assumption A1:

$$\varphi_{\lambda}(x, y) = F(x_{\lambda}, y_{\lambda}) + \lambda \begin{pmatrix} 0 \\ \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{1} \end{pmatrix}$$

is strong monotone.

Proof: In fact: for any:

$$\begin{pmatrix} x^T, y^T \end{pmatrix}^T, \begin{pmatrix} u^T, v^T \end{pmatrix}^T \in R^{2n}$$

$$\begin{pmatrix} \begin{pmatrix} x^T, y^T \end{pmatrix} - \begin{pmatrix} u^T, v^T \end{pmatrix} \end{pmatrix} \begin{pmatrix} \varphi_{\lambda}(x, y) - \varphi_{\lambda}(u, v) \end{pmatrix}$$

$$= \begin{pmatrix} \begin{pmatrix} x^T, y^T \end{pmatrix} - \begin{pmatrix} u^T, v^T \end{pmatrix} \end{pmatrix} [\begin{pmatrix} F(x, y) - F(u, v) \end{pmatrix}$$

$$+ \lambda \begin{pmatrix} 0 \\ \begin{bmatrix} y \end{bmatrix}_{+}^{1} \end{pmatrix} - \lambda \begin{pmatrix} 0 \\ \begin{bmatrix} v \end{bmatrix}_{+}^{1} \end{pmatrix}]$$

$$= \left(\left(x^{T}, y^{T} \right) - \left(u^{T}, v^{T} \right) \right) \left[\left(F(x, y) - F(u, v) \right) \right] + \\ \lambda \left(\left(x^{T}, y^{T} \right) - \left(u^{T}, v^{T} \right) \right) \left(\left(\begin{matrix} 0 \\ [y]_{+}^{\frac{1}{k}} \end{matrix} \right) - \left(\begin{matrix} 0 \\ [v]_{+}^{\frac{1}{k}} \end{matrix} \right) \right) \\ = \left(\left(x^{T}, y^{T} \right) - \left(u^{T}, v^{T} \right) \right) \left[\left(F(x, y) - F(u, v) \right) \right] \\ + \lambda (y - v)^{T} \left([y]_{+}^{\frac{1}{k}} - [v]_{+}^{\frac{1}{k}} \right) \\ \ge \left(\left(x^{T}, y^{T} \right) - \left(u^{T}, v^{T} \right) \right) \left[\left(F(x, y) - F(u, v) \right) \right] \\ \ge \alpha \left\| \left(\left(x^{T}, y^{T} \right) - \left(u^{T}, v^{T} \right) \right) \right\|_{2}^{2}$$

So Problem 3 has unique solution based the Theorem 2.3.3 of Facchinei and Pang (2003).

In the rest of our discussion, we start our convergence analysis with the lemma as follow:

Lemma 1: Let $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$ be the solution to Problem 3 for any $\lambda \ge 0$, then there exists a positive constant M which is independent of $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$, λ and K, such that:

$$\left\| \left(x_{\lambda}^{T}, y_{\lambda}^{T} \right) \right\|_{2} \le M \tag{11}$$

Proof: let $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$ be the solution to Problem 3 for any $\lambda \ge 0$, Left-multiplying both sides of (9) by $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$ gives:

$$\left(x_{\lambda}^{T}, y_{\lambda}^{T}\right)\phi(x_{\lambda}, y_{\lambda}) + \lambda\left(x_{\lambda}^{T}, y_{\lambda}^{T}\right)\begin{pmatrix}0\\ \left[y_{\lambda}\right]_{+}^{1}\end{pmatrix} = 0$$

Or

$$\left(x_{\lambda}^{T}, y_{\lambda}^{T}\right)\phi(x_{\lambda}, y_{\lambda}) + \lambda y_{\lambda}^{T}\left[y_{\lambda}\right]_{+}^{\frac{1}{k}} = 0$$
(12)

Since

$$y_{\lambda}^{T} \left[y_{\lambda} \right]_{+}^{\frac{1}{k}} = \left[y_{\lambda} \right]_{+}^{T} \left[y_{\lambda} \right]_{+}^{\frac{1}{k}} \ge 0$$

We have $(x_{\lambda}^{T}, y_{\lambda}^{T}) F(x_{\lambda}, y_{\lambda}) \leq 0$ So $(x_{\lambda}^{T}, y_{\lambda}^{T}) F(x_{\lambda}, y_{\lambda}) -F(0, 0) \leq (x_{\lambda}^{T}, y_{\lambda}^{T}) F(0, 0)$ Using Cauchy-Schwarz inequality and F(x, y) is strong monotone, we have:

$$\alpha \left\| \begin{pmatrix} x_{\lambda} \\ y_{\lambda} \end{pmatrix} \right\|_{2}^{2} \leq \left\| \begin{pmatrix} x_{\lambda} \\ y_{\lambda} \end{pmatrix} \right\|_{2} \left\| F(0,0) \right\|_{2} = \sqrt{2} \left\| \begin{pmatrix} x_{\lambda} \\ y_{\lambda} \end{pmatrix} \right\|_{2} \left\| q \right\|_{2}$$

Therefore, $\|(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}\|_{2} \leq M$, where, M is obviously independent of $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$, λ and k.

Remark 3: F (x, y) is continuous obviously, Lemma 1 shows that for any $\lambda \ge 0$, there exists a positive constant

L which is independent of $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T} \lambda$ and k, such that:

$$\left\|F(x_{\lambda}, y_{\lambda})\right\|_{2} \le L \tag{13}$$

Lemma 2: let $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$ be the solution to Problem 3 for any $\lambda \ge 0$, then there exists a positive constant C which is independent of $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$, λ and k, such that:

$$\begin{pmatrix} [x_{\lambda}]_{+} \\ [y_{\lambda}]_{+} \end{pmatrix} \Big|_{2} \leq \frac{C}{\lambda^{k}}$$
(14)

Proof: Let $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$ be the solution to Problem 3 for any $\lambda \ge 0$, we have $x_{\lambda} \le 0$, which indicate $[x_{\lambda}]_{+} = 0$, so we only proof $||[y_{\lambda}]_{+}||_{2} \le C/\lambda^{k}$ under the conditions of the Lemma 2.

Let C be a generic positive constant which is independent of $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$, λ and k. Left -multiplying both sides of (7) by, $([x_{\lambda}]^{T}_{+}, [y_{\lambda}]^{T}_{+})^{T}$, i.e., $(0, [y_{\lambda}]^{T}_{+})^{T}$ gives:

$$[y_{\lambda}]_{+}^{T} x_{\lambda} + \lambda [y_{\lambda}]_{+}^{T} [y_{\lambda}]_{+}^{\frac{1}{k}} = 0$$
(15)

Adding both sides of (15) by $-[y_{\lambda}]^{T} + y_{\lambda}$ gives:

$$[y_{\lambda}]_{+}^{T} x_{\lambda} - [y_{\lambda}]_{+}^{T} y_{\lambda} + \lambda [y_{\lambda}]_{+}^{T} [y_{\lambda}]_{+}^{\frac{1}{k}} = -[y_{\lambda}]_{+}^{T} y_{\lambda}$$
(16)

Since $-[y_{\lambda}]^{T_{+}} y_{\lambda} = -[y_{\lambda}]^{T_{+}} [y_{\lambda}]_{+} \le 0$ we have from (16):

$$\lambda[y_{\lambda}]_{+}^{T} \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{\frac{1}{k}} = \leq -\left(\begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T} x_{\lambda} - \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T} y_{\lambda} \right)$$
$$= \left(\begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T}, \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T} \right) \begin{pmatrix} -x_{\lambda} \\ y_{\lambda} \end{pmatrix}$$

Using Cauchy-Schwarz inequality, we have from the above equation:

$$\lambda \left\| \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+} \right\|_{p}^{p} \leq \left(\begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T}, \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T} \right) \begin{pmatrix} -x_{\lambda} \\ y_{\lambda} \end{pmatrix}$$
$$\leq \left\| \left(\begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T}, \begin{bmatrix} y_{\lambda} \end{bmatrix}_{+}^{T} \right) \right\|_{p} \left\| \begin{pmatrix} x_{\lambda} \\ y_{\lambda} \end{pmatrix} \right\|_{q}$$
(17)

where, p = 1 + 1/k, q = 1 + k and 1/p + 1/q = 1. By the fact that all norms in \mathbb{R}^n are equivalent and Lemma 1, we see that (17) implies:

$$\left\| [\mathcal{Y}_{\lambda}]_{+} \right\|_{2} \leq \frac{C}{\lambda^{k}}$$

where, positive constant C is independent of $(x_{\lambda}^{T}, y_{\lambda}^{T}) \lambda$ and k. Finally, (13) follows from the above estimate.

As follows, we present and prove our main convergence result.

Theorem 2: Let $(x^T, y^T)^T$ and $(x_\lambda^T, y_\lambda^T)^T$ be the solutions to Problem 2 and 3, respectively. There exists positive constant C that is independent of $(x_\lambda^T, y_\lambda^T)^T$, λ and k such that:

$$\begin{pmatrix} x \\ y \end{pmatrix} - \begin{pmatrix} x_{\lambda} \\ y_{\lambda} \end{pmatrix} \Big|_{2} \le \frac{C}{\lambda^{k/2}}$$
 (18)

Proof: Since $(x^T, y^T)^T$ is the solutions to Problem 2, it satisfies (7):

Notice
$$\begin{bmatrix} x \\ y \end{bmatrix} - \begin{bmatrix} x_{\lambda} \\ y_{\lambda} \end{bmatrix} = \begin{bmatrix} x + \\ y + \end{bmatrix} \begin{bmatrix} x_{\lambda} \end{bmatrix} - \begin{bmatrix} x_{\lambda} \end{bmatrix}_{+}$$

where, $\eta_{\lambda} = x + [x_{\lambda}]$ and $r_{\lambda} = y + [y_{\lambda}]$. Since:

$$x - \eta_{\lambda} = -[x_{\lambda}]_{-} \le 0, \ y - r_{\lambda} = -[y_{\lambda}]_{-} \le 0$$

We have $\begin{pmatrix} x - & \eta_{\lambda} \\ y - & r\lambda \end{pmatrix} \in K$ Let $\begin{bmatrix} u \\ v \end{bmatrix} \begin{bmatrix} x - & \eta_{\lambda} \\ y - & r\lambda \end{bmatrix}$, in (7), it follows: $\left(\begin{pmatrix} x - \eta_{\lambda} \\ y - r_{\lambda} \end{pmatrix} - \begin{pmatrix} x \\ y \end{pmatrix} \right)^{T} F(x, y) \ge 0$

Or

$$- \begin{pmatrix} \eta_{\lambda} \\ r_{\lambda} \end{pmatrix}^{T} F(x, y) \ge 0$$
(19)

We notice that $(x_{\lambda}^{T}, y_{\lambda}^{T})^{T}$ is the solution to the Problem 3, Therefore, left multiplying both sides of (9) by $(\eta_{\lambda}^{T}, r_{\lambda}^{T})^{T}$, we have:

$$\begin{pmatrix} \eta_{\lambda} \\ r_{\lambda} \end{pmatrix}^{T} F(x_{\lambda}, y_{\lambda}) + \lambda \begin{pmatrix} \eta_{\lambda} \\ r_{\lambda} \end{pmatrix}^{T} \begin{pmatrix} 0 \\ [y_{\lambda}]_{+}^{1} \end{pmatrix} = 0$$

Adding up (17) and (18) gives:

$$\left(\eta_{\lambda}^{T}, r_{\lambda}^{T}\right)^{T} \left(F(x_{\lambda}, y_{\lambda}) - F(x, y)\right) + \lambda r_{\lambda}^{T} \left[y_{\lambda}\right]_{+}^{\frac{1}{k}} \ge 0$$
(20)

Note that:

 $r_{\lambda}^{T} \left[y_{\lambda} \right]_{+}^{\frac{1}{k}} = \left(y + \left[y_{\lambda} \right]_{-} \right)^{T} \left[y_{\lambda} \right]_{+}^{\frac{1}{k}} = y^{T} \left[y_{\lambda} \right]_{+}^{\frac{1}{k}} \le 0$

Since $y \le 0$ and $[y_{\lambda}]^{1/k} \ge 0$, Thus (20) leads to:

$$\left(\eta_{\lambda}^{T}, r_{\lambda}^{T}\right)^{T} \left(F(x_{\lambda}, y_{\lambda}) - F(x, y)\right) \ge 0$$

Or

$$\left(\eta_{\lambda}^{T}, r_{\lambda}^{T}\right)^{T} \left(F(x, y) - F(x_{\lambda}, y_{\lambda})\right) \leq 0$$

So we have:

$$\left(\begin{pmatrix} x - x_{\lambda} \\ y - y_{\lambda} \end{pmatrix} + \begin{pmatrix} [x_{\lambda}]_{+} \\ [y_{\lambda}]_{+} \end{pmatrix} \right)^{T} (F(x, y) - F(x_{\lambda}, y_{\lambda})) \leq 0$$

It follows that:

$$\begin{pmatrix} x - x_{\lambda} \\ y - y_{\lambda} \end{pmatrix}^{T} (F(x, y) - F(x_{\lambda}, y_{\lambda}))$$

$$\leq - \begin{pmatrix} [x_{\lambda}]_{+} \\ [y_{\lambda}]_{+} \end{pmatrix}^{T} (F(x, y) - F(x_{\lambda}, y_{\lambda}))$$
(21)

From the Theorem 1 and the well-known Cauchy-Schwarz inequality, it follows that:

$$\alpha \left\| \begin{pmatrix} x \\ y \end{pmatrix} - \begin{pmatrix} x_{\lambda} \\ y_{\lambda} \end{pmatrix} \right\|_{2}^{2} \leq \left\| \begin{pmatrix} [x_{\lambda}]_{+} \\ [y_{\lambda}]_{+} \end{pmatrix} \right\|_{2} \left\| F(x, y) - F(x_{\lambda}, y_{\lambda}) \right\|_{2} \leq \frac{C_{1}}{\lambda^{k}}$$

So we have (18).

CONCLUSION

Although we do not make numerical experiments, from theoretical results and numerical experiments in (8-9), the power penalty approach should be effective for obtaining the solution of linear complementarily problem.

This study was supported by Project 70771079 of the National Science Foundation of China.

REFERENCES

- Bonnans, J.F. and C.C. Gonzaga. 1996. Convergence of interior point algorithms for the monotone linear complementarity problem. Math. Oper. Res., 21(1): 1-25.
- Ding, J. and T.Y. Li, 1998. An algorithm based on weighted barrier functions for linear complementarity problems. Arab. J. Sci. Eng., 15: 679-685.
- Facchinei, F. and J.S. Pang, 2003. Finite-dimensional Variational Inequalities and Complementarity Problems. Springer Series in Operations Research, Springer-Verlag, New York. Vol. I and II.

- Huang, Z.H., 2000. Polynomiality of high-order feasible interior point method for solving the horizontal linear complementarity problems. J. Sys. Sci. Math. Sci., 20(4): 432-438.
- Huang, C. and S. Wang, 2010. A power penalty approach to a nonlinear complementarity problem. Oper. Res. Lett., 38: 72-76.
- Jansen, B., C. Roos and T. Terlaky, 1996. Primal-dual target-following algorithms for linear programming. Annals. Oper. Res., 6: 2197-231.
- Sturm, J.F., 1999. Super linear convergence of an algorithm for monotone linear complementarity problems, when no strictly complementary solution exists. Math. Oper. Res., 24(1): 72-94.

- Wang, S. and Y. Xiaoqi, 2008. A power penalty method for linear complementarity problems. Oper. Res. Lett., 36: 211-214.
- Zhang, Y., 1994. On the convergence of a class of infeasible interior-point methods for the horizontal linear complementarity problem. SIAM J. Optim., 4(1): 208-227.
- Zhang, Y. and D. Zhang, 1995. On polynomiality of the A Mehrotra-type predictor-correct algorithms. Math. Programming, 68: 303-318.